Atomic Energy Central School No. 4, Rawatbhata
CONFIDENCE EXAMINATION (2018-19)

Time: 3hrs Class: VII, Sub: English M.M.:80
This paper consists of four sections. Section B: Writing - 20 Marks
Section A: Reading - 20 Marks Section C: Grammar - 20 Marks

Section D: Literature - 20 Marks

SECTION-A (READING)

I.  Read the following passage carefully. (10)

Nepal, a small mountainous country tucked between India and China, may seem completely foreign to
many Americans. Cows walk down busy streets, 24 different languages are spoken, and people eat two
meals of rice and lentils every day. Nepali holidays, many of which are related to the Hindu religion, can
seem especially bizarre to Americans unfamiliar with the culture. However, if we look beyond how
others celebrate to consider the things they are celebrating, we find surprising similarities to our own
culture.
The biggest holiday in Nepal is Dashain, a ten-day festival for the Hindu goddess Durga that takes place
in September or October. According to Hindu beliefs, Durga defeated the evil demons of the world. To
thank the goddess, people visit temples in her honour and sacrifice goats or sheep as offerings.
Throughout the year, most Nepalis do not eat much meat because it is expensive, but Dashain is a time to
enjoy meat every day. Children fly colorful, homemade kites during Dashain. People also construct
enormous bamboo swings on street corners and in parks. Every evening people gather at these swings
and take turns swinging. Nepalis say that by swinging, people can relieve the earth of their weight, if only
for a few minutes out of the year. Dashain is a time for people to eat good food, relax, and enjoy
themselves!

Aside from eating and enjoying themselves, during Dashain people also receive blessings from their
elders. Schools and offices shut down so people can travel to be with their families. Reuniting with
family reminds people of the importance of kindness, respect, and forgiveness. People also clean and
decorate their homes for Dashain. And, like many holidays in the United States, it is a time for shopping.
Children and adults alike get new clothes for the occasion. People express appreciation for all that they
have, while looking forward to good fortune and peace in the year to come.

During American holidays, people may not sacrifice goats or soar on bamboo swings, but they do
often travel to be with family members and take time off work or school to relax. No matter how they
celebrate, many people around the world spend their holidays honouring family, reflecting on their
blessings, and hoping for good fortune in the future.

Based on your understanding of the passage given above, answer the questions.

i) According to Hindus believe, what did the goddess Durga do?

i) Where is Nepal situated?

iii) What do people do to thank Goddess Durga?

iv) Which of the following sentences from the passage best indicates why the author thinks Nepal would

seem very foreign to many Americans?

a) “Cows walk down busy streets unharmed, 24 different languages are spoken, and people eat two meals of

rice and lentils every day.”

b) “Every evening people gather at these swings and take turns swinging.

c) “People also clean and decorate their homes for Dashain.”

d) “During American holidays, people may not sacrifice goats or soar on bamboo swings, but we do often

travel to be with family members and take time off work or school to relax.”

v) During which time Dushain is celebrated in Nepal?

vi) How do people celebrate Dashain?

vii) What is people’s belief about swinging?




viii)

Why are offices and schools shut down during this period?

ix) The author suggests that although people in different cultures celebrate holidays differently, one similarity
is also there .What is that similarity?

X)

As used in paragraph 1, bizarre most nearly means
a) unbelievable b) unknown c) awkward d) strange
Read the following passage carefully and answer the questions. (10)
Students tend to lose their pencils, break them without thinking, and find all sorts of non-writing uses for
them. The pencil in your hand is one of the most remarkable and useful tools in the world. A man named
Friedrich Staedtler invented the modern “lead” pencil in about 1622 in Germany. He was the first person
to mass-produce them. Staedtler did not use lead, and there is no lead in your pencil. However, some
pencils did use lead until the early twentieth century. Lead will make a mark, but it is toxic and not safe
to use either in the hands or around the face and mouth where many pencils sometimes stray. Staedtler
used black graphite, a soft form of carbon. Graphite is still used today. It is mixed with clay and wax and
heated to high temperatures. The modern pencil is a superb piece of technology. The pencil is less messy
than ink, can be easily erased, and makes clear, dark, smooth, and smudge-free lines. The modern pencil
can produce a continuous line twenty-two miles long. That’s a distance of 116,160 foot-long rulers laid
end to end. Enjoy your pencil. For a few rupees each, it is a remarkable bargain.
Mention one improper ways in which students make use of pencils
Lead is rarely used to make pencils. Why so?
What material is used in making of pencils instead of lead?
Why can we consider the modern pencil to be a superb piece of technology?
The modern pencil can produce something fantastic. What is it?
Who invented modern lead pencil?
What is graphite?
What changes are made in graphite before using it in a pencil?
Who is the person responsible for mass production of pencil?
Find words in the passage that mean the following:

a) Poisonous b) Removed something completely

SECTION B: WRITING

3) You lost your wrist watch in the school auditorium. Write a notice for your school notice board giving a
detailed description of the watch. You are Anirudh/Arundathi of St. John’s Public School, Hyderabad. (in
about 40 — 60 words) (5)

4)

5)

6)

7)

Write a paragraph of about 100-120 words on the topic given below using the hints: (9)

Importance of trees in protecting our environment

Hints: Great friend------ check soil erosion-----cause rain, control temperature and pollution----increase
fertility of soil---provide us many useful things like food and shelter to people, animals, birds giving
oxygen----taking carbon dioxide----maintaining ecological balance (any other point you can think of)
Write a letter to your uncle requesting him to come to your house to attend your birthday.

(6)

SECTION C: GRAMMAR

Complete the following passage by choosing the appropriate words from the options given for each

blank. (2)

I saw him walking (a) (along , across, in, out of ) the street and then running (b)

(across, along, on ,at )the lawn. After crossing the lawn, he took off his clothes and jumped (c)

(into, in of, at ) the swimming pool. (d)
(in, at, about, before) 6 a.m. he came out of the pool and went into the dressing room to change his clothes.

Add ‘-ly’ to the underlined word in each sentence. Rewrite the sentences using the new words. An

example is given. 2




a)
b)
c)
d)
8)

a)

b)

c)
d)
9)

10)
11)

12)

i)
iii)
iv)

Vi)

13)

a)
c)
15.

Eg: drew the picture in a creative manner.

Ans: She drew the picture creatively.

It is obvious that the work has not been done in a proper way.

The job can be completed within a week in an easy way.

You did not play in a serious manner, or else you would have won the match.

She recited the poem in a cheerful manner.

Look at the following words and phrases. Rearrange them to form meaningful sentences. Write the
correct answers in your answer sheet. 4)

in the world / the Himalayas / mountains / the highest / are

were injured/ the accident/ in/ passengers/ several

will / there / way / where / is/a/there/is/a

his courage / everybody / him / for / praised

Change the following sentences to reported speech: (3)
1)” Why is your face half shaven?”” Gopal’s wife asked him. .

i) “I want to see the king,” Gopal said to the guards.

iii) “Bring the man to me at once,” the king said the guard.

Fill in the blanks with appropriate forms of the word given in the brackets (2)
i) Sages are men. How they acquire their no one can tell.  (wise)
ii) The said that only fresh evidence would make him change his . (judge)
Rewrite the following pairs of sentences as a single sentence “IF” at the beginning of the sentence:
1)
Work hard. You’ll pass the examination in the first division.
Fill in each blank with suitable article taken from the options. (6)
Friends, we must have---- tickets with us. Only then, we can enter. (an/the/a)
Ice is ------- than water. (light/lightest/lighter)
Summer is pleasant in Manali. This year,we decided to go------ . (here/there/everywhere)
I work much-------- than | used to. (little/less/least)
It was an unfortunate incident for me. The interview-------------- before | reached. (start/had start/had
started)
He is----------------- weak to walk. (to/too/as)
SECTION-D (LITERATURE)

Read the lines from the poem and choose the correct option for each question: 3)

“Fall?” scoffed Dad. He got out the ladder

A climber like me? From the garden shed

Child’s play, this is? It slipped. He landed

You wait and see?”’ In the flower bed.

The father was dead sure of his

a) managerial skills b) climbing skills c)artistic skills d) artful skills

Father brought from the shed.

a)a rope b) food c) a ladder d)all the above

Dad’s climbing trial was

a)a mockery b) cancelled c)dangerous d)a failure

Read the lines from the text and answer the questions that follow: (3)

I said to him what an experienced friend of mine told me: “If anything goes wrong with your gear-
case, sell the machine and buy a new one, it comes cheaper.” “People talk like that who understand
nothing about machines. Nothing is easier than taking off the gear- case.”

Who is the first speaker?  b) Who is the speaker of the second statement?

Did the second speaker listen to the advice given? What did he do

Answer of the following questions: (10)

Name some stick- and- ball games that you have witnessed or heard of?




b)  What happens to the volunteer who swallows four drops of the new invention? What is the name of the
invention?

c)  Why does Maya think that Mr. Nath is a crook? Who does she say the Sunday visitor is?

d)  Why did Chandini refuse to join the group of wild goats?

e)  Where was the tiger cub hiding when the grandfather found him?

16. Answer in a short paragraph of 10-12 lines. 4

What are the three main ways of putting out a fire? Why should you not pour water on an electrical or oil
fire?
OR
What happened one Sunday when the lady was going to her sister’s house? What did the lady do?
What was the bear’s reaction? Why did the cook get angry with the Mistress?




ATOMIC ENERGY CENTRAL SCHOOL NO.4 RAWATBHATA
CONFIDENCE EXAMINATION —2018-19
TIME: 3HOURS CLASS: VIIl, MATHEMATICS MARKS:80

General Instructions:

1. Question paper consists of four sections A, B, C & D.
Section A consists of 6 questions of 1 mark each.
Section B consists of 6 questions of 2 marks each.
Section C consists of 10 questions of 3 marks each.

vk wnN

Section D consists of 8 questions of 4 marks each.
SECTION-A (6 MARKS) (6x1M=6M)
1. Find the ratio of 9 m to 27 cm.

2. AABC and APQR are congruent under the correspondence: ABC <> RPQ, then
write the part of AABC that correspond to APQR.

3. Write a rational numbers equivalent to 5/-3
4.1f p = -2, find the value of —2p> —3p° +4p + 7
5. What is the circumference of a circle of diameter 10 cm (Take mt = 3.14)?
6. Two dice are placed side by side with 6 + 2, what is the total on the face
opposite to the given numbers.
SECTION-B (12MARKS) (6x2M=12M)

7. The number of illiterate persons in a country decreased from 150 lakhs to 100 lakhs in 10 years. What is
the percentage of decrease?

8. Find the value of the expressions a*+2ab+b*fora=3,b=2.

9. State the number of lines of symmetry for the following figures:

(A) rhombus (b) A parallelogram (c) A regular hexagon

10. The two sides of the parallelogram ABCD are 6 cm and 4 cm. The height
corresponding to the base CD is 3 cm (see below Fig). Find the height
corresponding to the base AD.

E.
11. Explain, why AABC = AFED (see below figure).
12. What cross-sections do you get when you give a (i) vertical cut (ii)
horizontal cut to the following solids? (a) A circular pipe (b) Anice B t & F

cream cone
SECTION-C (30MARKS) (10x3M=30M)

13. Selling price of a toy car is Rs 540. If the profit made by shopkeeper is 20%, what is the cost
price of this toy?

14. Find any three rational numbers between 1/4 and 1/2.

15. A circular flower bed is surrounded by a path 4 m wide. The diameter of the flower bed is 66 m.
What is the area of this path? (m =3.14)

16. Represent these numbers on the number line. (i)-7/4  (ii)5/6 (iii) 9/7




17. Draw a rough sketch of a quadrilateral with line symmetry but not a rotational symmetry of

order more than 1. T'l"’
y v
18. For given solid, draw the top view, front view and side view. <— Side
19. Add:

Front

(i) 14x + 10y — 12xy — 13, 18 — 7x — 10y + 8xy, 4xy
(ii) 3p°g” — 4pg + 5, - 10 p’q*, 15 + 9pq + 7p’q’
20. In the below figure, AD = CD and AB = CB.

Q
(i) State the three pairs of equal parts in AABD and ACBD.
(ii) 1s AABD = ACBD? Why or why not? = N
(iii) Does BD bisect ZABC? Give reasons. =

21. Gypsum contains calcium, sulphur, oxygen and hydrogen in the ratio5:4: 8 : 3.

(1) Find the percentage of oxygen in it.

(it) In a sample of the gypsum, sulphur is 16 g, what is the weight of the sample.

22. Construct A ABC in which 2 ABC =90 0, BC =3 cm, AC =5 cm. Measure the length of side AB.
SECTION-D (32MARKS) (8x4M=32M)

23. Manoj donates Rs. 2000 to a school, the interest on which is to be used for awarding 5 scholarships of
equal value every year. If the donator earns an interest of 10% per annum, find the value of each scholarship.
What value depicted from this?

24.Through a rectangular field of length 90 m and breadth 60 m, two roads are constructed which are
parallel to the sides and cut each other at right angles through the centre of the fields. If the width of each
road is 3 m, find

(i) the area covered by the roads.
(i) the cost of constructing the roads at the rate of Rs 110 per m? A
25. (a) What should be added to x* + xy + y? to obtain 2x? + 3xy?
(b) What should be subtracted from 2a + 8b + 10 to get — 3a + 7b + 16?
26. ABC is an isosceles triangle (fig. beside the question) with

AB = AC and AD is one of its altitudes.

p— ¢
(a)State the three pairs of equal parts in AADB and AADC. D
(b)Is AADB = AADC? Why or why not?
(o)Is £B = ZC? Why or why not? (d)Is BD = CD? Why or why not?

27. A straight vertical coconut tree is broken due to storm at a distance 13 m from its top and its top touches
the ground at a distance of 5 m from the base of the tree. Find the original height of the tree.

28. Construct A ABC if BC =5.6 cm, £ BCA =60 degree and « BAC = 45 degree ( protector is restricted).

29.The perimeter of a square, the circumference of a circle are equal and equal to the perimeter of a
rectangle whose length is 13 cm and width 9 cm. Arrange their area in ascending order.

30.Subtractthesumof3x2-2x+1and x3-2x2+3x-5fromthesumof2x3+x2-4x+1and5x2+
4x - 3.




ATOMIC ENERY CENTRAL SCHOOL NO.4, RAWATBHATA
CONFIDENCE EXAMINATION - (2018-2019)
CLASS VII - SCIENCE
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I. Tick the correct option. (10X1=10)

Q.1. Yeasts are used for making wine & beer because they

a) are single celled b) respire aerobically c) respire anaerobically & yield alcohol d) None of these.
Q.2. The Component of blood which help in preventing the blood loss during an injury is

a) Red Blood cells  b) White Blood cells c) Platelets  d) Lymph

Q3. A consists of a short stem around which immature overlapping leaves are folded.

a) Flower b) Node c) Fruit d) Bud

Q.4. The distance moved by a vehicle is measured by-

a) Speedometer b) accelerator c¢) odometer d) none of these

Q.5. The basic unit of speed is

a) Km/min  b) m/min c) Km/h d) m/s

Q.6. which of the following does not contain an element?

a) geysers b) hotplates  c) tube lights d) irons

Q.7. A virtual image larger than the object can be produced by

a) Concave lens b) Concave mirror  c¢) Plane mirror d) Convex mirror
Q.8. Ground water stored between the hard layers of rock below the water table is

a) Aquifer b) water table  c) Surface water  d) None of these

Q.9. Herbs form the layer in the forest.

a) Uppermost b) Lowermost c¢) Middle  d) None of these

Q.10. United Nations proclaimed the period of as the international decade for action on water
for life.

a) 2005-2009 b) 2005-2015 c) 2006-2016 2008-2018

Questions carrying 2 Marks each. (11 x 2=22)

Q.11. Why smoking is injurious to health?

Q.12. What do you mean by “vascular tissue” in plants? Also state its function.

Q.13. Define pollination. Which type of pollination occurs in papaya & rose?

Q.14. A simple pendulum takes 42S to complete 30 oscillations. What is the time period of pendulum?
Q.15. What are CFLs? Why these are preferred over ordinary electric bulbs?

Q.16. A convex lens is called a converging lens. Why?

Q.17. Which type of mirror is used as side view mirror in vehicles? Why?

Q.18. Explain how agricultural activities are contributing towards the depletion of water table.




Q.19. What do you mean by “water wise habits”? State any two.

Q.20. What are decomposers? Why these are important in a forest?

Q.21. Cooking oils & fats should not be thrown down the drains? Why.

Questions carrying 3 Marks each. (3x9=27)

Q.22. How aerobic respiration is different from anaerobic respiration? What is the function of tracheae in
insects?

Q.23. How do following animals excrete their nitrogenous waste?

a) Fish b) Lizards ¢) Humans

Q.24. (a) Why seeds get dispersed in nature?

(b) Why flowers are generally so colorful & fragrant?

Q.25. State any two disadvantages of Sundials. Also write one difference between uniform & non-uniform
motion.

Q.26. Describe one activity to show that a current carrying wire behaves like a magnet.

Q.27. (a) what happens when light falls on a prism?

(b) What is a Newton’s disc? How will you prepare it?

Q.28. An object is placed in front of a plane mirror. Explain the features of image which will be formed?
Q.29. Explain the effect of water scarcity on plants. How it will affect human beings?

Q.30. What is biogas? State its 2 uses.

Questions carrying 4 Marks each. (4 x4=16)

Q.31. (a) What are Stomata? State its two functions.

(b) Write two differences between arteries & veins.

Q.32.Explain how yeast reproduces? Also draw diagram.

Q.33. Draw a labeled diagram of an electric bell. Also state two uses of electromagnet other than in electric
bell.

Q.34. Describe the steps involved in getting clarified water from waste water.

Value Based question (1 x5=5)

Q.35. Rohan is a village boy and lives in a big village. One day his grandfather told him that village was not
as large as it was now. It was also surrounded by forests. But today those forests are at the verge of
vanishing. Rohans grandfather was not happy at all, in fact was worried about the present situation of
declining forest. He told Rohan that forests are very important for us.

a) Why the Rohan’s grandfather was worried & sad?

b) Why forests are important for us?

c) What values are shown by Rohan’s grandfather?




ATOMIC ENERGY CENTRAL SCHOOL NO-4, RAWATBHATA

CONFIDENCE EXAMINATION (2018-19)

CLASS-VII

SUBJECT-SOCIAL STUDIES TIME- 3 HOURS
Instructions: This question paper consists five sections- A, B, C, D and E.

Section-A has 8 MCQs and each one carries 1 mark.

1.

e W

Section-B, each question carries 2 marks. (20 to 30 words)
Section-C, each question carries 3 marks. (40 to 50 words)
Section-D, each question carries 4 marks. (70 to 80 words)

TOTAL MARKS- 80

Section-E, question carries 4 marks, for making the options on the map.

Attach the map inside the answer script.

SECTION-A

Jagannatha temple is at
A. Puri (Odisha)
B. Varanasi (UP)
The third battle of Panipat was fought in
A. 1760
B. 1761

Cash crops grown in Ganga-Brahmaputra basin are-

A. Maize and rice
B. Sugarcane and jute
Marino is a species of
A. Fish
B. Elephant
Ladakhis a ............ lying in the great Himalayas
A. Cold desert
B. Hot desert
Branding means stamping a
A. Product
B. Consumer
People go to weekly markets to buy
A. Branded clothes
B. Cars

It is one of the largest cloth market in the world

A. Delhi
B. Kolkata

C.
D.

1X8

Rameshwaram (TN)

Patna (Bihar)

1762
1763

C. Wheat and millets

D. Gram and sorghum

Sheep

Goat

Sand desert

None of these

Manufacturer

None of these

Goods of everyday requirements

Al of these

Tamilnadu

Agra

SECTION-B (answer any 9 of the following) 2X9=18

9. Who were the tribes?




10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

21.
22.
23.
24,
25.
26.
27.
28.
29.
30.
31.
32.
33.

34.
35.
36.
37.
38.
39.

40.

Who were the Nayanars and Alvars?
Where did the Khathak developed?
Who founded the state of Awadh?
Which are the two factors on which the growth of vegetation mostly depends?
What are the reasons behind evolution of settlements near the river valleys?
Name the birds that are likely to find in the rainforests of the Amazon.
What are the temperate grasslands of North America called?
What are the climatic conditions of the Ladakh desert?
What do you understand by independent media?
Why do people go to a weekly market? Give any two reasons.
In what ways are weavers dependent on cloth merchants?
SECTION-C (answer any 10 of the following) 3X10=30
What kinds of exchanges took place between nomadic pastoralists and settled agriculturists?
Describe the beliefs and practices of the Nathpantis, Slddhas and Yohis.
What are the important architectural features of the temples of Bengal?
Why did the Nawabs of Awadh and Bengal try to do away with the jagirdari system?
Mention the uses of coniferous forest.
Today’s world is shrinking. Give reasons.
The rainforests are depleting. Give reasons.
The prairies are known as the ‘Granaries of the World’. Give reasons.
There is scanty vegetation in the deserts. Give reasons.
In what ways do the media play an important role in a democracy?
Write one merit and two demerits of advertisements.
Why people not bargain in shops located in malls whereas they bargain in weekly markets?
Give examples of people who are treated unequally in a democratic country like India?
SECTION-D (answer any 4 of the following) 4X5=20
Differentiate the features between the Sahara-Hot desert and Ladakh-Cold desert.
What is TMS? What are the demands of TMS? What were the results of the formation of TMS?
Explain how a chain of markets is formed? What purpose does it serve?
How were the Sikhs organized in the 18" century?
Markets exist everywhere. Explain.
Advertisements have become a significant part of our social and cultural life. Explain.
SECTION-E 1x4=4
Locate and label the following on the outline map of India.

A. Chennai B. Surat C. Agra D. Bhopal
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